107Rh

Based on ENSDF from Oct 2022, and mass evaluation from 2020

Z =45

N =62

adopted link

ENSDF link

BE = 915.289 ( 0.012) MeV
Qbeta- = 1.509 ( 0.012) MeV
Energy T J+ J-other T1/2

107RH 1 | 0.000 7/2+ | I 1 21.7 M 4
107RH 2 | 0.194 9/2+ | | 2

107RH 3 | | 0.268 1/2-1 3 10 US GT
107RH 4 | | | 0.374 (3/2+) 4 15 NS 2
107RH 5 | | | 0.385 (1/2+) 5

107RH 6 | | | 0.406 (3/2+) 6

107RH 7 | 0.463 5/2+ | | 7

107RH 8 | | 0.486 3/2-| 8

107RH 9 | | | 0.544 (5/2-) 9

107RH 10 | I | 0.560 (11/2+) 10

107RH 11 | | | 0.569 (7/2+) 11

107RH 12 | | | 0.576 (3/2+,5/2+) 12

107RH 13 | | | 0.589 (3/2+,5/2+) 13

107RH 14 | | | 0.680 (11/2+) 14

107RH 15 | | | 0.683 (7/2+) 15

107RH 16 | | 0.753 3/2-| 16

107RH 17 | | | 0.771 (13/2+) 17

107RH 18 | | 0.878 5/2-| 18

107RH 19 | | | 0.912 19

107RH 20 | | | 0.932 3/2+,5/2+ 20

107RH 21 | | | 0.936 (11/2+) 21

107RH 22 | | | 0.948 22

107RH 23 | | | 0.953 (9/2+) 23

107RH 24 | | | 0.974 (3/2-,5/2-,7/2-) 24

107RH 25 | 1.005 9/2+ | | 25

107RH 26 | | | 1.007 (9/2-) 26

107RH 27 | | | 1.010 (3/2-,5/2-) 27

107RH 28 | | | 1.024 28

107RH 29 | | | 1.042 (5/2+,7/2+) 29

107RH 30 | | | 1.078 30

107RH 31 | | | 1.166 (13/2+) 31

107RH 32 | | | 1.251 5/2-,7/2- 32

107RH 33 | | | 1.255 (15/2+) 33

107RH 34 | | | 1.272 5/2+,7/2+ 34

107RH 35 | | | 1.306 (5/2+,7/2+) 35

107RH 36 | | | 1.334 (1/2-,3/2-) 36

107RH 37 | | | 1.359 37


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=107Rh
https://www.nndc.bnl.gov/ensdf/
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107RH 83 | I | 3.709 (27/2-) 83

107RH 84 | | | 3.802 (29/2+) 84

S-p = 7.829 ( 0.013)-—- --- --- e
S-n 8.572 ( 0.013)--- -—- -—- e
§-2p = 19.165 ( 0.037)=mmmmmmmmmmmmmmm oo e
S-2n = 15.155 ( 0.012)--- —- -—- e
S-alpha= 4.685 ( 0.016)--- -—= -—= B
S+p = -9.950 ( 0.012)

S+n = -6.239 ( 0.018)

S+2p = -16.434 ( 0.012)

S+2n = -14.278 ( 0.013)

S+alpha = -3.777 ( 0.012)

gap p = -2.120 ( 0.018)

gap n = 2.333 ( 0.023)

gap 2p = 2.722 ( 0.039)

gap 2n = 0.877 ( 0.018)

gap alpha = 0.908 ( 0.020)



